
1

Kugelgrill | Kettle Grill | Barbecue à charbon
Barbecue op kolen | Barbecue di casa | Barbacoa de carbón 

Kuglegrill | Kulegrill | Klotgrill | Pallogrillin

No.1 Belly F50

1 x

1 x

1 x

2 x

2 x

1 x

1 x

1 x

1 x

1 x

1 x

1 x

1 x

1 x

1 x

2 x

3 x

1 x

1 x

Montageanleitung Assembly Instructions Guide d‘assemblage Instructies Istruzioni di montaggio

 Instrucciones de montaje Samlevejledning Monteringsanvisning Monteringsanvisningar Asennusohjeet

8 mm

10 mm

13 mm

rig
ht

 p
ro

te
ct

io
n.

 C
ha

ng
es

, 
th

ird
 p

ar
tie

s 
or

 c
om

pe
tit

or
s

rit
te

n 
ap

pr
ov

al
. A

ny
 v

io
la

tio
ns

rig
ht

s 
re

se
rv

ed
 fo

r p
at

en
ts

 
on

 o
f u

til
ity

-s
am

pl
es

.

ht
lic

h 
ge

sc
hü

tz
t. 

E
s 

da
rf 

oh
ne

 
ze

ic
hn

et
, v

er
vi

el
fä

lti
gt

, n
oc

h 
zf

irm
en

 z
ug

än
gl

ic
h 

ge
m

ac
ht

 
pf

lic
ht

en
 z

u 
S

ch
ad

en
se

rs
at

z.
 

nt
er

te
ilu

ng
 o

de
r M

us
te

rs
ch

ut
z

n.
description

tolerance style DIN ISO 2768-sg
screvison-no.

number date releasedchange

8mm 10mm14mm

1 x1 x

3 x M5x12

3 x M5
3 x S1



2

3   2

4

3

5

1

2

3

2 - 3
 x

.

.

.

3 x2 x S2

9 x M5x12

9 x S1

9 x M5



3

3   

3   

6

8

7

9

2

1

1

1

2

3

4 x M5x16

4 x S1



4

RÖSLE GmbH & Co. KG | Johann-Georg-Fendt-Straße 38 | 87616 Marktoberdorf, Deutschland 
Telefon +49 8342 912 0 | Telefax +49 8342 912-190 | www.roesle-bbq.de

3   10

11

1 x

2 x M5x12

2 x M5
2 x S1


